MAME DATE PERICD

4-4  Skills Practice

Parallel and Perpendicular Lines

Write an equation in slope-intercept form for the line that passes through the
given point and is parallel to the graph of each equation.
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10. RADAR On a radar screen, a plane located at A(—2, 4) is flying toward B(4, 3).
Another plane, located at C(—2, 1), is flying toward D(3, 0). Are the planes’ paths
perpendicular? Explain.

Determine whether the graphs of the following equations are parallel or
perpendicular. Explain.

11.y =%x+3,y=%x,2x—a‘y=8
12,y =dy, x+4dy =12, dx +y=1

Write an equation in slope-intercept form for the line that passes through the
given point and is perpendicular to the graph of each equation.

13.(-3,-2),y=x + 2 14.(4, -1),y = 2x— 4 15.(—1, —6),x + 3y = 6

16. (-4, 5),y = —4x — 1 17.(-2,3), y =42 — 4 18.(0,0),y = £ x — 1
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HAME DATE PERIOD

4-4 Practice

Parallel and Perpendicular Lines

Write an equation in slope-intercept form for the line that passes through the
given point and is parallel to the graph of each equation.

13,2, y=x+5 2.(~2,5),y = —4x + 2 3.(4,—5;,y=—§x+1
4.(5,4J,y:%x—2 5.(12,3J,y:%x+5 6.(3.1),2x+y=5
7.(—3,4), %y = 2x — 3 8.(—1,-2),3%—y=5 9.(—8,2),5x —4y=1
10. (-1, —4), 9x + 3y = 8 11.(—5, 6),4x + 3y = 1 12.(3,1), 2x + By = 7

Write an equation in slope-intercept form for the line that passes through the
given point and is perpendicular to the graph of each equation.

13.(-2,-2,y=-1x4+90  14.(-6,5,2-y=5 15.(—4, —3), dx +y =17
16.(0, 1), x + 5y = 15 17. (2,4), x — 6y = 2 18.(—1,—7), 3 + 12y = —6
19.(—4, 1), dx + Ty=6 20, (10,5, bx + 4y =8 21. (4, —5), 2x — 5y = —-10
22, (1,1), 3% + 2y = —7 23.(—6,—5),4x + 3y = —6  24.(—3,5), bxr — 6y = 0
25. GEOMETRY Quadrilateral ABCD has diagonals AC and BD. ALY
Determine whether AC is perpendicular to BD. Explain. PATRY
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26. GEOMETRY Triangle ABC has vertices A(0, 4), B(1, 2), and C{4, 6). Determine whether
triangle ABC is a right triangle. Explain.
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